Chapter 02 A7|AA3 29 7]%

2.1 G A|2H

SI ©¢ (Systeme International d'Unites, International System of Units)

T e, Vs
Z o] meter (m)
A& kilogram (kg)
A1 zk second (s)
7By |AH ampere (A)
ex kelvin (K)
T mole (mol)
e candele (cd)
3 A 7} radian (rad)
. G A A7t |steradian (sr)
718
S A m, s, kgf
MK.S. @914 m, s, kg
C.GS. @914l cm, s, g
* ST A+
A | BH | 7 | A | BH | 7=
10% yota Y 107%* | yocto y
104 zeta Z 1072t | zepto z
10" exa E 107" | atto a
10 | peta P 107" | femto f
102 tera T 107 | pico D
10° giga G 107 | nano n
10° [ mega M 10° | micro u
10° | kilo k 107 | milli [ m
10° | hecto h 107 | centi C
10" | deca | da | 10" | deci | d




2.2 A3, AF, A

A7) b= AeE g=—1.602 <10 C
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- joule
V=1 coulomb L7/

Ak, A9xp & Held v Hor dsts oleArl7l= A7 ¢

electro motive force; EMF
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o] A 3&7] (ideal resistor)

V=IR
_v
R=F 1]

resistivity (B A3} p
conductivity (AE=%&) o

R:p% 0] 29 2.29

ARAHE: P
P=VI=I’R=V?/R



Az 19 2.31
T4 Ag: F 2.3

W3] &2 (open circuit)

w232 (short circuit)
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2.4 ideal capacitor;
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Y A=A B3

A A (dielectric)
A7 ZA7F ok ar, A7 el Fulst = A7) = (dipole)& o] 23

Q [Cl= CI[F]x VIV]
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capacitance; F Farad, puf , pF

C= (€=8.854x10""2 F/m permitivity of air )
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103 = 10x10° pF
82: 82 pF

. dv(t)
i(t)=c4t

v.(t) = %/t i.(t)dt’

capacitor HE A2

capacitor & A2

A 4.1



oAl 4.2

__t
v(t)=5(1—e )
C=0.1uF

A A capacitor
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2.5 ideal inductor
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FNFE FAE py=4rx 1077

solenoid® self inductance:

a9 4.10)

v, (t

L:

BN =
T Kk, T
Aol =

k;

de] ARG D)ot mdel dol()e] nHE&= AHA =
D/1 K D/1 K
0 1.000 1.0 | 0.688
0.1 |0.959| 2.0 |0.526
0.2 0.920 3.0 | 0.429
0.3 |0.884 | 4.0 |0.365
0.4 0.850 5.0 | 0.320
0.5 0.818 6.0 | 0.285
0.6 |0.789 | 7.0 |0.258
0.7 | 0.761 8.0 | 0.237
0.8 0.735 9.0 | 0.219
0.9 |0.711 | 10.0 | 0.203
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) =1L

self inductance [H] Henrys

1H=1V/(A/s)
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1% (sinusoidal source)
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periodic signal (F7]41%)
% 4,17

x(t) = Asin (wt + ¢)
A: X% (amplitude)
w: <3+ (radian frequency)
¢ Y4 (phase)

w=27f (rad/s)

At
¢ =360,
_ 1 _ 2r
T—f -




2.7 A AR 23 (FHIR)E T3 3= 9

a9 4.21

v, (t) —w.(t)

dv.(t
ip(t)=——p——=il)=C ”;li )
dvc(t) 1 . 1

T Rov-(t)=pav. () (4.30)

Asrs o8 24 (KVL)
t
vs(t):Rz'C(t)+LC/ i, (t)dt  (4.32)

1 du,(t)

di (t
Z.;()Jr 1

dt ro =g

(4.34)

Ay A5 digt ZASH
v, (t) = Veos (wt )

v, (t) = Asin (wt) + Beos (wt )
2] (4.30) °l tHdsto]l A, BE T

_ VwRC
1+ w* (RC)?

v
B=— )V
1+ w*(RC)?

(LO3) T35, &, 217 (Phase)



